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1. fdl daell w@ol wftfe () & o-F0l = 6. T-1 & TH-II & @y gafma i iR

wehio Toreeh) Sufefa =1 deha a R7 g & = fg T g s R g IW
(@) T T &% AR TR T
foref wtT] % ofE WieH
= - -1 -1
(c) Tereh o] % &% 8§ gemafda Aifve (=Frer) (37amT)
(d) O & T
A. 9NF T 1. gfeeht (TRafs)
2. T 1 HA- FH gHWTRE AT ST 27 B. fufes s 2, W uREw (52
(@ n ¥ 3u firdfea)
©) 0 R 2H C. infifirm Tgiwe 3. wii-avw (Fefe)
D.
© e o He it T 4. =R ()
(@) }OAr i 20ca %<
@ A B C D
3. fafafae § & wF-d et afufmn e 1 2 3 4
i 7
(a) Fe +CuSO, — FeSO,4 +Cu (b) 11\ ? g 5
(b) Zn+CuSO, — ZnSO, +Cu
(c) Cu+PbCl, - CuCl, +Pb ) A°. B C D
(d) Mg+CuSO, — MgSO, +Cu 4 3 2 1
4, YA % SR pH I forera gran @ (d) : 2 C D
3 1
(a) TS g faemm
(b) FAIUH A faera
(¢) Foa =AY forer 7. wafy 7ol & a8 o, Red w@f w1 awa (7F)
(d) e faremm fraif@ g 7, 98 @l F1/4
5. gra JMRE A, efdafas § @ sF-w o (@) 3T
I Tl &7
(a) I 3 (b) AR
(b) TTHREH T (0 ot
(c) e s
(d) TRETANG 3T (d) e
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1. Scattering of a-particles by a thin gold
foil suggests the presence of

(@)
(b)
(c)

(d)

electron in an atom
proton in an atom

positively charged nucleus at the
centre of an atom

isotopes of gold

2. The elements of which of the following
pairs are isobars?

(@)
(b)
(c)
(d)

1 3
lH and lH
1 2
1H and lH
12 14
6C and 6C

40 40
18 Ar and 2oCa

3. Which one of the following chemical
reactions is not feasible?

(a)
{b)
(c)
(d)

Fe + CuSO, — FeSO, + Cu
Zn +CuSOy4 — ZnS0O,4 + Cu
Cu+PbCl, - CuCl, + Pb
Mg + CuSO, —» MgSO, + Cu

4. A solution having pH equal to zero is
known as

(a)
(b)
(c)
(d)

highly alkaline solution
highly acidic solution
weakly acidic solution

neutral solution

5. Which one of the following acids is
produced in human stomach?

(@)
(b)
(c)
(d)

Formic acid
Sulphuric acid
Nitric acid
Hydrochloric acid
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6. Match List-1 with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
{Compound) (Use)
A. Boric acid 1. Antiseptic
B. Citric acid 2. Food
preservative

C. Magnesium 3. Antacid
hydroxide

D. Acetic acid 4. Pickle

Code :

(@@ A° B C D
1 2 3 4

() A B C D
1 3 2 4

0 AN B C D

() A B C D

7. The property of the sound waves that
determines the pitch of the sound is its

(a) frequency
(b) amplitude
(c) wavelength

(d) intensity

[ P.T.0.




8. frafafaa d @ #W\-w1 & o X-fEe & ad

27
(@ A faggq &4 ¥ Fdfm @ srh
(b) A greehig &l F s 7€ & )

(© s (vad) # wh v T s
(33) gt R

(d) T FHM h A H T q0IeH =g
w9 (1) &1 B

9. TF AT €9 R s W gfafae % W H,

Freffas & @ #9-w1 & wd wE 87

(a) TEH SR 98 A ® S TEE-9%g H
gl 2

(b) a7 Wdfa w9 A Fowfia (sfaenfa/
3IA<1) gl B

(c) 4% arefers gfafams € R

(d) 98 0 & fF 6 IR 3 @ @ w®
a1 B Rt ) axg <du % 9 B
R

10. T ofesfl (Ifcerm) & Q) waad <du W@ 9@

2

(@) TH-GER & THFR

(b) TH-FA  TE

(c) TH-FE % AU 60° T HIVT F14 §C
(d) TH-FE % A 45° T HIV] F14 §C

11. 3k 9y § womw it wfa (I) 3x 108 m/s

%,a‘:@irmmwnﬁmwamaﬁwimg%,ﬁ
YeRTYl <hY 7T o Bfi?

(@ 2x108 m/s
) 2x108 m/s
(c) %xlo8 m/s

(d) 3x10% m/s
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12

13

14

15.

16.

fr=fafaa # @ feu vr & fafeswor @1 @A
= g g7

(a) e am

(b) T THRI

(c) SATTH[THRS (3o 3Re)

(d) TS /FegEreE (Fo Me)

forelt sl (f8M) & oo s k6 3o ®
(@ N-m (b) N/m
() N-m? (d) N/m?

Frafafaa § ¥ wF-w1 v 7EmR (W@ )
€t 77
(@) &M (Fe)
(b) WA
(c) ==
(d) edfmiE (vefive)

Frefafad & @ fra i (She) =1 g Bred
(sh-=ad w8) g &7
(@) TRt
(b) AT (W)
(¢) HIR
(d) HE (FHA i)

et B iffee S % A weelt w1 wdl

agwn Frefafaa 3 wF-w da 27

(@ N (FERHRR), YO H AT, WO,
A (I9), gues 1 fasmse

(b) {9 H &I, Ny, W, A, g
EIREEIEC

(c) TP, Fi=R, gmas &1 e, yo &
41, DY

(d) qE, YO F T, FEAS b faweE,
gor, A




8. Which one of the following is not a
property of the X-rays?

(a) They are deflected by electric fields.

(b) They are not deflected by magnetic
fields.

{c) They have high penetration length
in matter.

(d) Their wavelength is much smaller

than that of visible light.

9. Which one of the following is not true
about the image formed by a plane
mirror?

(a) Itis of the same size as the subject.
(b) It is laterally inverted.
{c) 1t is real image.

({d) It is formed as far behind the
mirror as the object is in front.

10. In a periscope, the two plane mirrors

are kept

(a) parallel to each other

(b) perpendicular to each other

(c) atan angle of 60° with each other

(d) at an angle of 45° with each other

11. If the speed of light in air is 3x 108 m/s,

then the speed of light in a medium of
refractive index 2 is

2
(@) 2x108 m/s
() 2x10% m/s

(c) 2x10% m/s

fd) 3x10%8 m/s
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12,

13.

14.

15.

16.

Which one of the following types of
radiation has the shortest wavelength?

(a)
(b)
(c)
(d)

Radio waves
Visible light
Infrared (IR}
Ultraviolet (UV)

The unit of the force constant k of a
spring is

(@)
(c)

N-m (b) N/m
N-m?2 (d) N/m?

Which one of the following is not an
epidemic disease?

(@)
(b)
(c)
(d)

Cholera
Malaria
Smallpox
Elephantiasis

Which one of the following animals has a
three-chambered heart?

(@)
(b)
(c)
(@)

Scoliodon
Salamander
Pigeon
Human being

Which one of the following is the correct
sequence of events during sexual
reproduction in plants?

(@)

(b)

(c)

(d)

Seedling, formation of embryo,
pollination, fertilization, division of
zygote

Formation of embryo, seedling,
pollination, fertilization, division of
zygote

Pollination, fertilization, division of
zygote, formation of embryo,
seedling

Seedling, formation of embryo,
division of zygote, pollination,
fertilization

[ P.T.O.




17. 5o T TEe, fed s o 8, A e @ 21, GH-1 A G-I & Wy gafea i ofk

G i Wil ® (e § A wE), 99 ) w6 g % 9= e e g2 w1 oW W W
o giten () ® s @1 W@ feaeR gfe
Jufeufa & HRoT gral 87 . :
(@) EET Te-1 -1
. () (|7)
(b) JATFHISH
. A. TS 9of (=i 1. NaHCOj,
(c) e SRATHES Tver)
(d) FTH AT B. @R % @iel (3ffF1 2. Na,CO;-10H,0
EIS))
18. =ifirf whrmell & o ‘S&i gmt (ol C. dR mgEl (aiffm 3. Ca(OH),
wid) freffea 3§ @ 76 wga 27 drer)
(a) THIS D. g g0 90 (W& 4. CaOCl,
(b) To Ao o )
(c) ‘Qo@ﬁo'l‘.ﬁo F:
(d) uTERfae T @ A B C D
4 1 2 3
19, UH-&F T Wivd & oY fem 9 ggen () A B C D
g frefafaa 3 @ - 7 4 2 1 3
e ) A B C D
@ 3 2 1 4
) @ A B C D
(c) UM 3 1 2 4
(d)
22. fFed T9m & T IR wohe & T 9 &
20. TRt e 1 T A, W IR = G Y g$ §U S F AYA R e fhad def
o wgE e B, Frad iy 9D g 7 7
(@) e () (@) 2
(b) WfeTn FARRS (b) 4
(c) HEH © 5
(@) Cegfifam (d) 6
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17, When air is blown from mouth into a 21. Match List-I with List-II and select the
test tube containing limewater, the correct answer using the code given
limewater turns milky. This is due to below the Lists :
the presence of

{a) water vapour List-I List-IT
(Name) (Formulaj
(b) oxygen
.. A. Bleaching powder 1. NaHCOg4
(c) carbon dioxide
B. Baki d 2. Na,CO, - 10H,O
{d) carbon monoxide 1ng soda a2~ 2
C. Washing soda 3. Ca(OH),
18. Which one of the following is the ‘energy D. Slaked lime 4. CaOCl,
currency’ for cellular processes?
Gl
(a) ucose Code :
(b) ATP
(c) ADP @ A B € D
4 1 2 3
{d) Pyruvic acid
(b) A B C D
19. Which one of the following is the 4 2 1 3
first enzyme to mix with food in the
digestive tract? {c) A B C D
i 3 2 1 4
fa) Trypsin
(b) Cellulose (@ A B C€C D
3 1 2 4
(¢) Pepsin

(d) Amylase
22. The number of water molecules

iated it ulphate
20. Mahatma Gandhi’s Dandi March, a great e Wity feppey  Hip

event in Indian freedom struggle, was
associated with

molecule to form crystals is

(a) 2
fa) iron
(b) sodium chloride (b) 4
(c) sulphur 5
(d) aluminium @ 6
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23. =il < aegd w1 A gell @ | 6 w9 96

el B T | T Eieg B ®, ik

(@) A9 o ATFdwE o B oI R
HlFaTEE 99 ST B

(b) TN H THEE wEA SEATHEEE F W™
AR e =i, Rieat wERe s34
?

fc) T A HeR % Wiy AR w6 i,
Tt wowge B TH Wa (FIf) SR
3

(d) &&1 H ARgeE Al % Wy eAfufE
F% didl, Riea Agde s R

24. IR T ol (Fem/fawen) =1 aoAe sfead

xR aw °C #H y R, o 39 o= o Gew B
fa) x=273-y
(b) x=273+y
{c) x=173+y
d x=173-y

25. frh varel Y wRRwwm p fre s (gfe) §

Afiraes 6l ST wehd 27
{a) ohm

{b) ohm/cm

{c) 'ohm-crn

(d) ohm-cm?

26. frE-g=dm @, N Iy w9 (dme

FRIfFHH) % T W e §, #
(a) 3Tath Tafero

(b) T At

(c) e atd

(d) T TR
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27. MG YR A 4 9@ k TH A FW AR

(A ) o7 w1 T e Fefaiea § 9
-1 _7

(a) F@ (TaT), wrefef, o, g
(b) T, T, TR, T
(c) @, TANTEA, A, T
(c) AR, e, AT, TEEITE

28, oyl A fafafes @ @ ®R-@ e@wEh

(GSeerg) of%, gm (Shs) & ¥ & &
Wl R?

(a) wiftges (efsa)
(b) ¥ (foeehl)
(c) T ()

(d) e (A=)

20 Tiefafaa § ¥ fFa Rmm o #

<o To To Bral 87

(@) el Swehtol (Tiesh Aatew)

(b) TIERIHIgA

(c) wFEEM

(d) Fagef sferr (GEreaners YRagem)

30. 7 ¥ fFw Jwfe A e $it ghan &

wfereor (FAIESITF) hl Tohe=T Wgd 67
(a) TSEE S

(b) U =

(c) T gH

(d) I ifraE




23. Silver articles become black after some
time when exposed to air because

(a) silver gets oxidized to silver oxide

(b) silver reacts with moist. carbon
dioxide in the air to form silver
carbonate

{c) silver reacts with sulphur in the air
to form a coating of silver sulphide

(d) silver reacts with nitrogen oxides in
the air to form silver nitrate

24. If x is the temperature of a system in
Kelvin and y is the temperature of the
system in °C, then the correct relation
between them is

(@) x=273-y
(b) x=273+y
fc) x=173+y
d x=173-y
25. The resistivity p of a material may be
expressed in units of
(@) ohm
() ohm/cm
{c) ohm-cm

(d) ohm-cm?

26. The electromagnetic waves, which are
used for satellite communication, are

(a) infrared radiations
(b) ultraviclet radiations
{c) radio waves

(d) visible lights
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27. Which one of the fbllowing is the correct
sequence of organs that occur in the
path of urine flow in human body?

(a) Kidney, ureter, urinary bladder,

urethra
t

(b) Kidney, urinary bladder, ureter,
urethra

{c) Kidney, ureter, urethra, urinary
bladder

(d) Urinary bladder, kidney, urethra,
ureter

28. Which of the following endocrine glands
is not found in pair in humans?

{a) Adrenal

(b) Pituitary
(c) Testis
(d) Ovary

29. Which one of the following cell organelles
contains DNA?

(a) Golgi apparatus
(b) Mitochondrion
(c) Lysosome

(d) Endoplasmic reticulum

30. Who among the following scientists
introduced the concept of immunization
to the medical world?

(a) Edward Jenner
{b) Robert Koch
(c) Robert Hooke

(d) Carl Linnaeus

[ P.T.O.



31. ffdRas & @ frm ww Aft@wm o
31 feeer, 1929 % &7 f @ &t "o
& 75 A7
(a) ITEHSIER
(b) ARl

(c) <R

(d) dEI&

32, fiefaRed 3 4 fea sfufam & aga fumgest
% wigenati & o die smidm i 7, s fafie
el % foe Wl % e ¥ arged o?

(@) oa &R Afufy, 1858
(b) i uftg stffem, 1909

(c) ¥Rd OHR AfuF=—m, 1919

(d) R GhR AfYf=m, 1935

33. 99 1931 # 9= | g iRew wrdim fera &
g wen (3Na sfem fedve s <fed
Hew) g Fefafen & @ fF-d@ @ @
g oft?

(@) T e TR
(b) g % fre ot fratm-d
() FeqaEEst % fog sfm e

(d) 9WE T TH Uk (THRHE) T
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34. T ¥ P9 3T OEEA ATH NN 3 F

FEIIH § @ T §7
(@) TEETE SR
(b) FEHFEE FR
(c) TREHMIY &R

(d) €fFq =% FEaE

35. ¥ A fpg goam 3 gFH-v-fearh A

(FFFq) A e iR fomm w3 F gof w7 @
HheTdT QIRIE <h1?

(@) Ieqarms

(b) A
(c) IAER Raesi

(d) e fam gers

36. 30 A fore TE Ja1/FAER I TRA W SATHA

w0 % fog ey =t uR 7 A7
(@) IS @H

(b) W TG

(c) TG

(@) Fagm TN




31. On 31st December, 1929, in which one 34. Who among the following was one of the
of the following Congress Sessions was founders of the Indian Society of
proclamation of Purna Swaraj made? Oriental Art?

(a) Ahmedabad (@) Rabindranath Tagore

(b) Calcutta (b) Abanindranath Tagore

(c) Lahore () Dwarakanath Tagore

d) Luckn ;
(@ s {d) Bankim Chandra Chattopadhyaya

32. Which one of the following Acts reserved

seats for women in Legislatures in 35. Who among the following Sultans

accordance with the allocation of seats succeeded in finally breaking anfi

for different communities? destroying the power of Turkan-i-
Chihalgani?

{a) The Government of India Act, 1858
(a) Iltutmish
(b) The Indian Councils Act, 1909
(b) Balban
{¢) The Government of India Act, 1919 '
(¢) Alauddin Khalji
(d) The Government of India Act, 1935

(d) Muhammad bin Tughluq

33. Which one among the following was .
demanded by the All India Depressed

36. Wh the followi Mongol
Classes Leaders’ Conference at Bombay o among Y ORpre ong
in 19317 leaders/commanders did not cross
n

Indus to attack India?

(a) Universal adult suffrage )
{a) Chenghiz Khan

(b) Separate electorates for

untouchables (b) Tair Bahadur
(c) Reserved seats for the minorities : (c) Abdullah
(d) A unitary State in India (d) Qutlugh Khwaja

PLKI-S—-GNL/S58A 11 [ P.T.O.




37. Wi g % qfl ve % &% § yda ¥ =

I arelt 38 IR Y T1Y F w1 F@ T
B

(o) Forega

(b) <t

(c) ¥faet 9o (<)
(@) Tem g (sfisi)

38. Tify sl geaa: el urd wid 27

(@) 3eur 3R FepleR
(b) ST WH

(0 Hefif-—F@

(d) FOR gt

39. v & &7 #, fr=fifea 4 @ fre windla w9

) ‘TH TS A6 ER (1 we ¥ ae<a)’
g Tl 87

(a) FEH
(b) diim s
(c) FAH

(@) TSREH

40. FREr gt % vk T 8 & Wil vem B

T FEgl A 87

(a) FM o

(b) I T

(c wGres (frmaifera) o
(@) IRH T
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41, Fefafaa 4 @ #R-@ 7f @09 o w0 F

firereh 27
(q) <&
(b) WM
(c) s
(d) ¥

42, fafafaa % @ =F-w1 & IR F 1 7]

& 27

(@) <70 F

(b) = @t (I wifif)
(c) YA T (TgHTer)
(d) e Fate FR

43. F=fafaa & @ FF-w & JH-swm o T

37

(@) = v

(b) <RTTE HfH

(c) T yifHr (T )
(d) S (FN) IR =ed

44, TR (MGNREGA) &1 3% fafafaa & 2

HA-E TH TE 27

(@) & fadim ad § 100 fE o &1 F99
57 WEH HAT

(b) e GiEIREl w1 gem (Fmior)
(c) <y Fifsma = semn
(d) Wit wuResE w ghia w




37. In the region of eastern shore of Adriatic ~ 41. Which one of the following rivers joins
Sea, a cold and dry wind blowing down Ganga directly?
from the mountain is known as

(a) Chambal
(a) Mistral
(b) Son
(b) Bora
(c) Betwa
Bi
(c) ise @ a

(d) Blizzard

42. Which one of the following is not a type

38. Nyishi tribe is found mainly in of commercial agriculture?
(a) Andaman and Nicobar (a) Dairy farming
(b) Arunachal Pradesh (b) Grain farming
(c) Nilgiri-Kerala (c) Livestock ranching
(d) Kashmir Valley (d) Intensive subsistence agriculture
39. In the field of tourism, which one of the | 43. Which one of the following is not a land
following Indian States is described as use category?

‘One State Many Worlds'’?
(a) Forestland

(a) Assam
(b) Pasture land
(b) West Bengal
(c) Marginal land
(c) Karnataka
(d) Barren and wasteland

(d) Rajasthan

44. Which one of the following is not an
40. The number of people per unit area of objective of the MGNREGA?

arable land is termed as
(a) Providing up to 100 days of skilled

(a) apgricultural density labour in a financial year

(b) arithmetic density (b) Creation of productive assets

(c) physiological density (¢) Enhancing livelihood security

(d) economic density (d) Ensuring empowerment to women

PLKI-S-GNL/58A 13 [ P.T.O.




45. d9Hdl s wRTE % gy §, ffaiaa § @ 48. WM, S WRd UK H TH GNE R,

-1 HYA e A& 27 fafafiga # | e &3 @ gefia 7
YEEd A, Yoehl, AP H ,
memw§§mmm§ﬁm () ST SRET () Torgeiee ST e
8 (b) T TR B o TR F R w
(b) T = S 25 98w @ W R, @ U9 Y B
Y9™d % 999 999 & foae 9w g
(c) W% TaEd AT ygel % (W) H () W0 o o T FEIA (W)
oty ¥ wrga ofe a9l 96 9K | - g
el B

(d) W& YOS Tl AT
(d) T 99Ed S Emiys e ¥ 9”

grifsa &t s 8, 98 f efy & waa

A1 e T S T Wl B 49. ‘SO TETE (FATTE) w1 wwd fehafa 1 Q
o wftpa wwEl | AgS % WRe ¥R
46. WG @R TN G99 IRV H =g W A qgfawor &) & HE 7
Frafafaa § @ H=-@ 37
(@) eI ™ Sl (a) T Sl
(b) TR W FEFH AT (b) T (Wad) Sifes yg¥F (POPs)

(c) Wige eyl W A
(c) IR (IRE)
(d) EFEae IqeEr arfivr Fived JisE
(d) @A R degearh (Shaars)
47. 958 e WA &3 fgwrm 9 (MPLADS)
* fawg A Fafafga 3 @ F9-w F9 9

TE 27 50. WRd A Aikenell ¥ WaEA (WHRI) % 89
() T8 A ¥ Ed FE A GE e T, (e &) =1 Tl v e Ffafed % @
it i gt R ) - R
(b)) WEE F TAMG W W W wEl off (@) TR
FrifAa frg W F e sl A gl
T B (b) Tomm
(c) F& ASA WA THR 0 Piaar Ffveg
i 2 () fome
(d) wfi voE g aifis ger) €5 S R (d) ™ (Fr)
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45. Which one of the following statements

with regard to the functioning of the

Panchayats is not correct?

(a) Panchayats may levy, collect and
appropriate taxes, duties, tolls, etc.

(b) A person who has attained the age
of 25 years will be eligible to be a
member of a Panchayat.

(c) Every Panchayat shall ordinarily
continue for five years from the
date of its first meeting.

(d) A Panchayat reconstituted after
premature dissolution shall
continue only for the remainder of
the full period.

46. Which one of the following is the earliest

launched scheme of the Government

of India?

(a) Deendayal Antyodaya Yojana

(b) Pradhan Mantri Gram Sadak
Yojana

(c) Saansad Adarsh Gram Yojana

(d) Deendayal Upadhyaya Grameen
Kaushalya Yojana

47. Which of the following statements is not

correct regarding the Members of

Parliament Local Area Development

Scheme (MPLADS)?

{a) Members of the Parliament (MPs)
sanction, execute and complete
works under the scheme.

() Nominated Members of the
Parliament can recommend works
for implementation anywhere in the
country.

{c) The scheme is fully funded by the
Government of India.

(d) The annual entitlement per MP is
¥ 5 crore.

PLKI-S-GNL/58A

48. Saubhagya, a Government of India

Scheme, relates to which of the
following areas?

(a) Achieving universal household
electrification

(b) Providing clean cooking fuel to
poor households

(c) Rationalizing subsidies on LPG

(d) Stopping female foeticide

49, The Basel Convention’ is aimed at

protecting human health and
environment against adverse effects of
which of the following?

(a) Hazardous wastes

(b) Persistent Organic Pollutants
(POPs)

(c) Mercury

{d) Chemicals and pesticides

50. Which one of the following is the biggest

cause of incidence of migration of
female persons in India?

{a) Employment
(b) Education
(c) Marriage

(d) Business

[ P.T.O.




51, W ® (¥) & = #, Fefafea & @ F¥9-w

T |El e 87

(o) I® JAeuE HW (AEERE WH) W
FEW 9% (TS 9F) qW UwRa =
wW Rl

e AUy WOWEY [T S
(3urd)] w anforfRes St g gl i
T R

I8 fordt TRy A iR sl 9 &
<9 3w wfee W ded =9 [ B

Iz wuids wifa (Rreghedt) 6 arm
(@) 31

(b)

(c)

(@

52. dl fwd aguma (w1 fod W) fra fifde

e a?

(@) FEa (') w MR el Haiat
(eFaradl) o1 7w SN Rl gREu $ ¥
H e} Uk T (W9TErT) Bt ®
fraa win MR smaftes Iaefal 1 3w
N ARo o ABo & g IN (W) &
¥ § ot I Uk W@ B

fraa @ R safte IeTfal 1 ow
S St A I T T % | & =
# Aok W@ Brar B

(d) Fal uiia TRT 61 dbi & o d & Wy
SIeRIn]

(b)

(c)

53. dwma 1, Ife et smia 3 o Y, mfeg @

Tl R qAl S A % WA 45° AW

TR B MR I o fEm v R fF @ %

qY-T1Y (GHARR) X =Y B, O 7h{yd €9 4

Fn w[ forn w7

(a) @ IREd (R) 8 d& £

(b) Erl IRe ThEEE TS (ThR) # ¥

(c) <t afadi sremt-stem (=) gogEl §
2l

(d) FH-8-%7 T IREd T 8 G B
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585.

56.

57.

16

FIH Feald @S, 2019 F GAAB T
Raend) geFr T4 @ e ww gon?

(a) T WS
(b) o am &=
(c) o= o
(d) STE

Rt 2019 1, f=falaa § @ fre o€ 29«
HEA 3 -39 A feanforan ifta fern?

(a) TEEITE

(b) i Ug frmg
(c) THo 3o o Hio
(d) o8 T

21 oFe], T fReiR watator diwaaed st g
B A gyErl ¥ oY, FEl H @A 9 27

(a) e
(b) A
(C) 'q\o THo UWo

(d)

T 8§ R fod 9% A, e[ | 9 3R
H aafy & e, Fefafaa § 4 fra 9% %
WAYRA] g G A e fFy 9 W
yiqeyg g 87

(a)
(b)
(c)
(d)

3euss 9%

BECtiEED

o Ug werTy Hieiifea &
1Y §ieT oF




51. Which one of the following is not correct
about Repo rate?

{a) 1t is the interest rate charged by the
Central Bank on overnight loan.

(b) 1t is the interest rate paid by the
commercial banks on overnight
borrowing,.

{c) 1t is the interest rate agreed upon
in the loan contract between a
commercial bank and the Central
Bank.

(d) Itis the cost of collateral security.

52. The Cash Reserve Ratio refers to

{a) the share of Net Demand and Time
Liabilities that banks have to hold
as liquid assets

(b) the share of Net Demand and Time
Liabilities that banks have to hold
as balances with the RBI

{c) the share of Net Demand and Time
Liabilities that banks have to hold
as part of their cash reserves

(d) the ratio of cash holding to reserves
of banks

53. In economics, if a diagram has a line
passing through the origin and has
45° angle with either axis and it is
asserted that along the line X =Y, what
is tacitly assumed?

(a) Both variables are pure numbers.
(b) Both variables are in the same unit.

{c) Both variables are in different
units.

(d) At least one variable is a pure
number,
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Who among the following won the Best
Men’s Player Award of FIFA Football
Awards, 2019?

- {a) Cristiano Ronaldo
(b) Virgil van Dijk
{c) Lionel Messi

(d) Xawvi

55. In September 2019, which one of the

following travel giants declared itself
bankrupt?

(a) Expedia

(b) Cox & Kings
(c) SOTC

(d) Thomas Cook

56. Greta Thunberg, a teenaged environment

activist who was in news recently,

hails from

(a) Sweden
(b) Germany
{c) USA

(d) Canada

57. Recently the Reserve Bank of India

has imposed limitations, initially for
a period of six months, on the
withdrawal of amount by account
holders of which one of the following
banks?

(a) Indusind Bank
(b) Dhanlaxmi Bank

(c) Punjab and Maharashtra
Cooperative Bank

(d) South Indian Bank

[ P.T.O.




58, M o= H T & # vhifdw =T wge 61. Frafafaa # ¥ ¥-w w g9 w6 ghfaa =

HTeh QERR Yo foRn ) e @ TR " ?7
[EHR G TE I o1? .
(@) FEHT-H : geiel SR i
(@) JERS FE
(b) 2ferEn T (b) TR BERR L
(c) Wres =l (c) WAFE P o
(@ R (d) e . TE i
59. ufag g fum, fowdt st =6 awifa (TwE)
wmmaﬁﬂém@m“m%» 62. fr=fafga & ¥ FH-3 wme AGAEl (A
T @ oy et TeprehR R s T e A @ T8 T T Am) § gEEn W 97
(a) 3T IA-GHT
(@) W% A
(b) AT TEA
PR (b) Tui¥en =+ form
() T () @i
60. ‘TS TGS Wumel (W) % &R #H, FrafaRaa (d) SaeTE
¥ B9-0 w9 &7
1. ‘Wd 9% W de (add) § weeer G’ % wRig qEe % 9 A, Fefafe A
H Ruf oIk 3% A F1 G=F ) . ?ﬁi—mww%? ’
2. ‘GIR’ U YSHAR! W I W& F1 YIF _
o1 S HIEEER Y W@ B Q) . (@) T& T TiFe e (fawg) @ < gne
3. waEdl WAl § 1000 wal Al F - forat o & ofi il
‘AR UE WA @ A FAESER eI 1 e A B
2{21/:?”!&':"!(?m)*”““c‘ﬁ“"”‘lﬁtn (b) & vw-fgm ¥ 9a B o
TS @ S e o o w9 A R
e Y g w1 Em R wd IW g :
o 1 5 (c) ' WiEHfos fagm & fafim e 3§ ferra
(@) 1 #R2 T TR a1 g2 g ¥
) 13 S b wea &
(d) =8 ey ™ T
(c) A 2 ¥ 3 | TeaTe B T @ =ife ofv w0 @
(d 1,23R3 AT AR
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58. Amitabh Bachchan was recently
conferred with the prestigious Dada
Saheb Phalke Award. Who among the
following was the first recipient of
the award?

(a) Prithviraj Kapoor
(b) Devika Rani
{c) Sohrab Modi
(d) Naushad
59. The famous Mughal painting, depicting
Jahangir embracing the Safavid king

Shah Abbas, was painted by which one
of the following Mughal painters?

(a) Abd al-Samad
(b) Abul Hasan
(c) Dasavant

(d) Bishandas

60. Which of the following statements about
‘Mughal Mansab’ system are correct?

1. ‘Zat’ rank was an indicator of a
Mansabdar’s position in the
imperial hierarchy and the salary of
the Mansabdar.

2. ‘Sawar’ rank indicated the number
of horsemen the Mansabdar was
required to maintain.

3. In the seventeenth century,
Mansabdars holding 1000 or above
‘Sawar’ rank were designated as
nobles (Umara).

Select the correct answer using the code
given below.

(a) 1 and 2 only

(b) 1 and 3 only

{c) 2 and 3 only

(d 1,2 and 3
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61. Which one of the following pairs is not
correctly matched?

{(a) Kuddapah-kar : Rocky wastelands

(b) Nancai : Wet fields
{c) Puncai : Dry fields
(d) Tottakal : Garden lands

62. Which of the following rulers were
identified through matronymics (names

derived from that of the mother)?
{(a) Mallas of Pava

(b) Videhas of Mithila

{(c) Yaudheyas

Satavahanas

(d)

63. Which one of the following statements
about the famous text of Panchatantra
is correct?

(a) It is a philosophical text reflecting
the debates of the time and refuting
rival positions.

(b) Itis a text ushering in linguistics as

a formal science.

-{c) ltis a text discussing developments

in wvarious spheres of natural
sciences.

(d) It is a text showing through
illustration what should and

should not be done.

[P.T.O.




64.

65

66

67,

Iy 3R Sy Berra (feon) ) wfea o= T
Y-3TPIF HH (Uh) B

{a) FIe BT HO AN IR (I=TEE)

(b) T AH 3R ARfEEF IR

(c) T IV, BTA 3P R IR

(d) T F, TTA B IR Imafdrr ITN

. TR % FrefaRaa 9 @ fee v § geuofl su%
WIRfch aedfd 3TTr=sTe % &9 § et 27

(a) TCIEA 3R HYeR=A
(b) Tom oiv o

(c) E T i Tfece
(d) @ IR iR wigee

. Frafafaa § & F9- 30 wgh gl €2
(@) FUARE AR FfaRa am
(b) IH sTEifeE HuamE iR FEia uw
(c) HE IR ST ar

(d) dfE gER AR (R T fgw) i

FiFeTs TR

O # forem T=al /og Tou-a51 @ | A Afte
Satig W 77
(@ 1
(b) 2
(o 3

(d 4
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68. tScil T aTdg fEed #, 91 SR IBJA T R

¥ida: Fel W A= A 87

(@) A:IVRGEHT AIfmRy &7
(b) S

(¢) U IA-TE A (FIKX)
(d) EreRE R

69. Frefafaa % @ frm a1 A Ifes wed

fees A 9T S @7
(a) Sfara
(b) TeRrata
(c) SirEia
(d) WEEA

70. YaRR R e @ gAe #, Fratafas # 9

ey /foem aRffa(al) § mafrer =1 w@m =
Hehal 7

1. 3 79w € WRa & TR 8 |
2. % AW Fatas AmEe i oEvd )

3. R o % U wRa ¥ 9 ayg Ui
Kl

= e T g2 1 T W g W g
(@ 1,233

(b) Fad 2 3R 3

(c) a1 3R 2

(d) Fad 1




64. Geomorphic factors influencing plant and 68. In the Hadley cell thermal circulation, air
animal distributions are rises up and finally descends at

(a) slope angle and relief only (a) intertropical convergence zone

1 . .
(b) slope aspect and relative relief (b) doldrums
(c) slope angle, slope aspect and relief

{c) subtropical high-pressure cells
(d) slope angle, slope aspect and

relative relief (d) equatorial troughs
65. Which one of the following groups of 69. Which one of the following soils is
cities does not have Sclerophyll as characterized by very high content of
its natural vegetation cover? organic matter?
(a) Valparaiso and Cape Town (a) Vertisol

Lisb
(b) Lisbon and Perth (b) Histosol

{(c) Los Angeles and Adelaide

{c) Gelisol
(d) Las Vegas and Queensland

(d) Spodosol

66. Which of the following are warm ocean

currents? 70. Overseas Indians can exercise franchise

(a) Kuroshio and California Current in an election to the Lok Sabha under

which of the following conditions?
(b) North Atlantic Drift and Brazil up i
Currant 1. They must be citizens of India.

(c¢) Canaries and Benguela Current 2. Their names must figure in the
electoral roll.
(d) West Wind Drift and Falkland

Curent 3. They must be present in India to
vote.
67. In India, how many States/Union Select the correct answer using the code
Territories have more than two given below,
international boundaries?
(a) 1, 2 and 3
(@ 1
(b) 2 (b) 2 and 3 only
I(c) 3 {c) 1 and 2 only
@ 4 {(d) 1 only
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71, Prefefes § @ FR-A @ v s
WIRA Ao <6t TEt kY

(@) T@ TER ¥ FHR AN Ay W B
s € (%) T2 R)

(b) FETaTE H Wl Y A IR F AR K S
T 3@ Ao § afifem §)

(c) e Fefreaem omsmw & o w fifda
e s ft Tt | e T
ST |

(d) 98 A1 Wid gRaR @ 10 &/ W1 A
AT Y A R

72. Frafafes § ¥ F9-8 arE e $ 9R w9
HM S1q 87

() " (Freasgar), wu@YA, SqEda iR
gxTieRetor

(b) T, JcATEHAl, TuIiReRy 3R aRefR
(Fercem)

(c) ScuTEHar, fam, aamaee iR |

(d) M, Scqieshdl, qEEYE AR wmE

73. dlaum (8eal wwww) Afufem, 2002 %
mem ¥, Fefafea § 4 frg w | 9@
Fded & ¥ § gftfera feman e 87

(@) =afema AR s afsam (Brammam)
T IepEal & oY o

() 6 3R 14 WHN 5g & fi9 3R IA
+! Than % SEm T©E F=

(c) Toml 3R sl & Foaw & fore & wen
(d) Wifd 3R w9=Y H sGrEn
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74. YRa & dioum & fefafea 4 ¥ wR-w
TR, IR TR F Tt =Re fit @ ww@
??

(@) T 20
(b) ¥T=3 21
(c) I3 22
(d) T 23

75. 9Rd # g gn & 9 #, fafafas sl w
forem v
1. fafim gl ) geer & SNWRT & yER iR
fireufaqm & YR W gg=H1 ST R

2. fufim gl & ot oKt & waR ok
Rreafamm 9§ &eiia faftmar 761 2)

3. fafm wil A wwm g TR R
ITEEY § U offufim TR @ @
THEHH foeRita g8

o & @ BA-a1/Q we wd R/E?
(@) Fad 1

(b) FaA 1 3R 2

(c) +aa 3

(d 1,233

76. f=fafas # | fee Pl (Reamen) e @
T R IR e BEe (Si8) e IF fRy
i 9 o fqu 4 Rifie op iRl § 99
e 97

(@) Y AR et vgieai
(b) TSEYM & Gag!

(c) =R wEItEAt

(d) vt ) veifeat




71. Which one of the following is not a
feature of the Ayushman Bharat
Scheme?

(a) There is no cap on family size and
age.

(b) The scheme includes pre- and
post-hospitalization expenses.

(c) A defined transport allowance per
hospitalization will also be paid to
the beneficiary.

{(d) The scheme provides a benefit
cover of ¥ 10 lakh per family.

72. Which of the following are considered
to be the four pillars of human
development?

(a) Equity, inclusion, productivity and
empowerment

(b) Equity, productivity, empowerment
and sustainability

(c) Productivity, gender, inclusion and
equity

(d) Labour, productivity, inclusion and
equity

73. Which one of the following was added
as a fundamental duty through the
Constitution (86th Amendment] Act,
2002?

{a) To strive towards excellence in
individual and collective activity

(b) To provide opportunities for
education to one’s child between
the age of 6 and 14 years

{c) To work for the welfare of women
and children

(d) To promote peace and harmony
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74. Which one of the following Articles of the
Constitution of India protects a person
against double jeopardy?

(a) Article 20
(b) Article 21
(c) Article 22
{d) Article 23

75. Consider the following statements about
Stone Age in India :

1. Different periods are identified
on the basis of the type and
technology of stone tools.

2. There are no regional variations in
the type and technology of tools in
different periods.

3. Stone Age cultures of different
periods evolved uniférmly in a neat
unilinear fashion all over the
subcontinent.

Which of the statements given above
is/are correct?

{a) 1 only

(b) 1 and 2 only
{c) 3 only

(d 1,2 and 3

76. From which one of the following factory
sites were limestone and chert blades
mass produced and sent to various
Harappan settlements in Sindh?

(a). Sukkur and Rohri Hills
(b) Khetri in Rajasthan

() Chagai Hills

(d) Hills of Baluchistan

[P.T.O.




77. o ‘REr-sa-goefa’ S R oW g%,
1757 1 v e &, Fres g foaeh =i
(44

(@) GEd ST
(b) HIRA @A
(c) T g&H
(d) T® O W™

78. % ue guga o1 7% 1836 # vy vy
‘e oM wwife % fog whee @o’ w6
fdrereaan (fewmge) ofi?

(@) <8 JTHeTS
{b) WIS IEHERA
{c) wie Him

(d) STESst 5

79. ‘aEeiftA) aar’ < Tt ReEss gR R TS oft?
(@) TEEAIY T ERT 1839 T
(b) ¥ I U §RI 1857 U
(¢) A& TR &9 §U 1850 A
(d) FTHEHY S T 1840

80. WRd 3 Yo Ao To & #N Tl AN T
B-far ¥ o B wn g2 W fRa @
17

(o) Tog o (e grgems)

(b) wef s (Tferthe Zrgen)

(c) T oS (TR ZrReh)

(d) TEe (STelt ¥a) foe (agEd 213eTew)
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82.

83.

84.

85.

24

AR FEl T AND I 87
(a) Taferm

(b) <&@

(c) AFEA W

(d) TS

929 AFIEH JERd (JEHR) T wdds
AT F=R e A It F g varg
anfeemites wfafd FafaRaa 3§ @ w@-d@ &7

(@) ‘gerga A fr’

(b) GR e’

(c) Rcikics

(d) ‘TR st Mg

TS TR S1aTs fopeeh g foan siman &7
(@) Tow T Afder Tew wEewm

(b) FEES I TTHARRAHE T

(c) el Tpe A6 FAsTe

(d) Tod MfEAREEre shHEeA

“iefl dier wrh’ =l for j7
(a) AT

(b) =A%

(c) Ty

(d) A

Fefafes 7 ¥ F9 ofle § W@ wwad
A} % ®9 A UgA, S Aaa: b A
U IR Al TTGT 1 HRO G117

(a) e
(b) wfm
(c) Famed (Faist)

(d) ==




77. The work Siyar-ul-Mutakherin, which 81. Naropa’ is an annual festival of
describes the Battle of Plassey, 1757, (a)

Sikkim
was written by
(b) Ladakh
(a) Salabat Jung (c) Arunachal Pradesh
(b) Qasim Khan (d) Nagaland
(¢) Ghulam Husain 82. Which one of the following is India’s

official entry for the Best International
Feature Film category in the
92nd Academy Awards?
78. Who believed that the Russian designs (a) Bulbul Can Sing
were ‘an imminent peril to the security
and tranquility’ of the Indian Empire
in 18367 (c) Gully Boy -
(d) And The Oscar Goes To

{d) Ram Mohan Roy

(b) Super Deluxe

{(a) Lord Auckland
83. The Global Goalkeeper Award is given by

(a) the Bill and Melinda Gates

(b} Lord Palmerston

{c) Lord Canning Foundation
(d) Alexander Burnes (b) the United Nations Environment
Programme
79. The ‘Tattvabodhini  Sabha’  was (c) the Kellogg:8cheal of Management
established by {d) the World Meteorological Organi-
zation

{a) Devendranath Tagore in 1839
84. ‘Gandhi Solar Park’ is located at

(a) New York
(c) Akshay Kumar Datta in 1850 (b) Vladivostok

{b) Keshab Chandra Sen in 1857

(d) Dwarakanath Tagore in 1840 (c) Thimphu
(d) Houston

80, What was the code name given to the
first ever tri-service military exercise
between India and USA?

85. Who among the following was the first
to arrive in Africa as traders that
eventually led to European colonization

() Lion Triumph of Africa?

(a) French

(b) Spanish

(c) Portuguese

(d) Bison Triumph (d) Dutch

(b) Elephant Triumph

(¢) Tiger Triumph
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86. Wiaw 1% fufeeR Sifafm, Sife e

ew gfEfid @ vug R, we @ k7
(@

(b) I

(c) AT

(@) T

87. Fra e Rafie (e oMo Teio) & way #,

Frafafaa § & FF-w/% %0 w8 /87

1. Ho 3o Telo Hl HEAIWE whiciebrl d
!

2. Hio @o THo 82 -8 A wiEnfera
BT ® S MRA % s widE osat § %

R
3. Ho Mo wde fw i TEIR TR w
FIAT I HI R |

= fog 7T e 1 W@ W FE W g
(@) *Fd 1

(b) %@ 1 3R 3

(c) a2 3R 3

(d 1,233

88. 7w W7 # f=fafea # ¥ FA-w Sw@ag TR

e &7

(o) IugAA (I9-ATHRF)

(b) HEHIRR Y =S e
(c) U RY (W)

(d) ¥R FETEIE s ey
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89, Frafafaa & | F- 59 ok Fvi A wg@

aT1 Tt _7
(@) 34,

(b) T
(c) I
(d) HwT

90. "y TR & w8 v ¥ frafafes 3 @ 5

WY1 GRER A gama 87

(a) WRA-ZITE ($E1-F09)
(b) =F-foesd (wre-ferser)
(c) e

(d) FeTTH

91, frfafes & @ frm asgede w1 w9

gfo Hflo R0 ISR TR 39 T W foham T
o 5 HH wEm ‘ft s’ % w9 W R
@ ?

(a) T3 352

(b) =2 359

(c) IT=< 356

(d) IFTS] 368

92. I} 32 F NYW I AT fha IR

R Ed F T 71 X whar _7

() Sfaa =afF & 99 (qW) =T ¥
IR (I9T9) 91 Ghell B

(b) T fqanfea qeai i wife A s =fg

(c) T foreht sft 7@ R 1 g 7= gam
?

(d) & wiaeEmral 3 3OS T (FR) W
sy Tfaa fe % fag i 98 4 @




86. The College of Military Engineering 89. Which one of the following is not among

affiliated to Jawaharlal Nehru the principal languages of Jammu and
University is situated at Kashmir?
(a) New Delhi (@) Urdu
b} Gujari
(b) Dehradun () Guj
{c) Koshur
inital
{c) Nainita (d) Monpa
(d} Pune ) L
90. The major part of Central Asia is
dominated by which one of the following
87. Which of the following statements with language families?
Zega;d to Coal India Limited (CIL) is/are (@) Indo-European
rue

(b) Sino-Tibetan
1. CIL has its headquarters at _
Kolkata. {c) Austric

2. CIL operates through 82 mining (d) Altaic

areas spread over twenty provincial

91. Which one of the following Articles was
States of India.

defended by Dr. B. R. Ambedkar on the

3. CIL is the single largest coal- plea that it would be used as ‘a matter
producing company in the world. of last resort’?

Select the correct answer using the code (@) Article 352

given below. (b) Article 359

(c) Article 356
(d} Article 368

(a) 1 only

() 1 and 3 only
92. What is the ground on which the
Supreme Court can refuse relief under
d 1,2 and 3 Article 327
fa) The aggrieved person can get
remedy from another court

{c) 2 and 3 only

88. Which one of the following climatic types
is found in Central Spain? (b) That disputed facts have to be

Subarcti investigated
a arctic
(@) Sua ' (c) That no fundamental right has

(b) Mediterranean dry hot summer been infringed

(d) That the petitioner has not asked
for the proper writ applicable to
(d) Humid continental warm summer his/her case

(c) Subtropical Steppe
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93. 9l I AR e ITH HAE TR e
T R?

(@) T Fm faswmr @ I@m iR STl
TR Faga fawm

(b)) @F IT® faum e IWm iR Al
TR FaeA fasm

(c) AR iR fenfies srgdu@ fawm @
Wil welim fsmm

(d) a IEm favm t@ s 3em favm

94, WA ¥ ygen wicda st fha 99 nifsa foran
™ oT?

(a) 1949
(b) 1950
) 1951
(d) 1952

95. 7 § Tren dfaum @ § g7 ww w1 T
26 SHal, 1950 H WRG Aa€Qe
(frrera) & amerra # yfae & @ a?

(a) Tfo o Ao IFETAI
(b) TR TEE

(c) WETH TR

(d) T Ho gasi

96. 3 91 Auw TSt F o9 et faae & am
(F9) 4 Fola AR Hit I AEEE f ke
Fq7 Fgerdl 87

(@) RN AfbsTia
(b) Fafifea (wes1) HAlteian
(c) wanfio it
(d) GEATEHR SAferenrica

PLKI-S-GNL/S8A

97. gumwst #i anfdis WeeHR UREg (EAC-PM)

1 =Y T W BH o7
(@) T do qred
(b) fou= =i
(c) i M
(d) e feAra

98. fea@n fora w1 6 whg meeh B7

(a) O
(b) ¥TRQ
{c) aTAR™
(d) 9

99. YR 9y &N & fasgR TEaws afEn

e, R T @ # R A e fe T e,
el o 37 |

(a) W 3R HTR
(b) TEOTEA WeW
(c) FieH

(d) T yen

100. ¥@H-2, S T € § FAleH § g gl

o1, 1 917

(@) g fomH
(b) TR
(c) uias famm

(d) THa-ed (W) aEdE 9w
(378 T sdhd)




93. The Ministry of Heavy Industries and
Public Enterprises consists of

(a) the Department of Heavy Industry
and the Department for Promotion
of Industry and Internal Trade

(b) the Department of Public
Enterprises and the Department
for Promotion of Industry and
Internal Trade

(c) the Department of Scientific and
Industrial Research and the
Department of Heavy Industry

(d) the Department of Heavy Industry
and the Department of Public
Enterprises

94, The First Delimitation Commission in
India was constituted in

(@) 1949
(b) 1950
() 1951
(d) 1952

95. Who among the following stated in
the Constituent Assembly that on
26th January, 1950, India was going to
enter a life of contradictions?

(a) Dr. B. R. Ambedkar
(b) Jawaharlal Nehru
(¢) Mahatma Gandhi
(d) S. P. Mukherjee

96. The power of the Supreme Court to
decide in the case of a dispute between
two or more States is called

(a) original jurisdiction
(b) inherent jurisdiction
(c) plenary jurisdiction

(d) advisory jurisdiction

PLKI-S-GNL/58A

97. Who among the following is the

Chairman of the Economic Advisory
Council to the Prime Minister
(EAC-PM)?

(a) Ratan P. Watal
(b) Bibek Debroy
(c) Ashima Goyal

(d) Sajjid Chinoy

Hilsa is the national fish of
(a) Pakistan
(b) India
(c) Bangladesh
(d) Nepal
The Vijaynagar Advanced Landing

Ground of the Indian Air Force, which
was reopened recently, is located in

(a) Jammu and Kashmir
(b) Arunachal Pradesh
{c) Karnataka

(d) Himachal Pradesh

100. Rustom-2, which crashed in Karnataka

recently, was a/an
(a) fighter aircraft
(b) helicopter

(c) transport aircraft

{(d) unmanned aerial vehicle
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101. wom (=) Fuehg Hdfe s, el wia,

gt aiR edets wiftrer A, el g an?
(a) W sAA

(b) =%

() T

(d) &=

102. YRa ¥ ¥ =gTed 6 EA1 (3Sat) & gudl

103.

Frafafan # @ fra SAfufem/smam g frn
T o?

(@) WRA R Afufm, 1919
(b) o R (cft ), 1923
(c) ¥R WHR AYHam, 1935
(@) wiRea qieg sif¥fEm, 1909

Yo affy’ H I gaEER 3 1914 #
T A7

(a) TEEAH FIE
(b) o o MER
(c) = graE
(@) Ao o |

104. W(ﬁm)wmmmmﬁamﬁmm%

TR v 1 e ad wftifaa gon?
(@ 1948
(b) 1950
() 1949
(d) 1947
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105. & FHiYA (1882), ™& wRa A fian <t feufy

T Gagy HW F g i@ fFn o,
I

(@) Fafaem (FEfd) i w1 @y
T

(b) 1854 h Tagfy (3wor) =t w® e

(c) wufies fisn W afees a8 (W) <0 g
1854 I fagfy =1 wmedx frm

(d) Toen ¥ wemEr o1gam yomeh it e
#

106. U9 % FAE ¥ Hatth aft gmel | s

T I Wi RS T A 27
(@) YT i HER

(b) T FurHEd

(©) mﬁaﬁqaﬁm

(d) wRa et swm

107. WRd & dfgm & 114 g s =

vl it e st 37
(@) w9 3R T faumred
(b) TSa fagTdes IR v=Ea
(¢) R TFm IR d=ra

(d) T AN IR TG




101. The maiden trilateral naval exercise

involving India, Singapore and Thailand
was held at

(a) Port Blair
(b) Chennai
(c) Panaji

(d) Kochi

102. The creation of a Federal Court in India

was advocated by which of the following
Acts/Commissions?

(a) The Government of India Act, 1919
() The Lee Commission, 1923
(¢) The Government of India Act, 1935

(d) The Indian Councils Act, 1909

103. Who founded the ‘Seva Samiti’ at

Allahabad in 1914?

(a) Hridayanath Kunzru
(b) G. K. Gokhale

{¢) Shri Ram Bajpai

(d) T. B. Sapru

104. The State of Hyderabad in the Deccan

officially acceded to the Indian Union
in the year

(@ 1948
(b) 1950
() 1949
(d) 1947
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105. The

Hunter Commission (1882}
appointed to survey the state of
education in India

(a) deprecated University education

(b) overruled the Despatch of 1834

(c) endorsed the Despatch of 1854
with greater emphasis on primary

education

(d) criticized the grants-in-aid system
of schooling

106. The power to legislate on all matters

relating to elections to Panchayats lies
with

(a) the Parliament of India
(b) the State Legislatures
(c) the State Election Commission

(d) the Election Commission of India

107. The 11th Schedule of the Constitution of

India distributes powers between

fa) the Union and the  State
Legislatures

(b) the State Legislatures and the
Panchayat '

(c) the Municipal Corporation and the
" Panchayat

(d) the Gram Sabha and the Panchayat
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108. Y9 % HEYYT % TEY § 9RA % Glauw &
ey, fefaflea & & B @ ™1 w @9

7t B 87
() FeTeE ) Brgu
(c) | (d) T

109. F=fafes # @ -t 78 wen gR 3 =7l

Torerd 27
(@) M (b) R
(c) M (d) S3=

110. TP Ve IHEH (FvHE 9 TWhed/NWA)
gl foya o7

(@) FEUL
(b) TER
c) W=

(d) GsHaEdl

111. Tl WA A @ AR A g SR & T
(&) 1 W aggn Frefafen § @ 9w

27

(a) T 3T, Ao smEp, fEw e,
Pratem amm

(b) Taias s, Qs AmEm, e emm,
Frem amam

(c) are sEm, Fated smm, e smim,
o amim

(d) Tiam smam, m emm, dsmr s,
Fratem amam
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112. s Huar AfFR (IPRs) ¥ wey § Afy
Fregm (gEfieo) freenr aifiea 27

(@) Tafy @ = v e
(b) Togm I Wrenfieht fasm
(c) T AR ATl IR Gagq favm

(d) "Ha FEEA T waerE

113, @R |al YOS o Y (AYUSH) a8 #
TR @ A () frefafaa & @ R S
™ RY
(@) I
(b) Taa
(c) Hran-foa
(d Th

114, Ugh g Wiww FEHH (TR AT
TERGHE W) & forg wra 7 Fefefea 3
[ 5 Fga Al (ed wiEl) S /= 79
27

(a) TATEREl, 99 & Foayg qiEda warer
(b) Togm R Wrenfieh Tore
(c) et fogm e

(d) TR HATHE

115, 2011 & SHTOM % ITFER, WRa § @ @,
8 wardt (atiafer) Am1 S gwar @ i S
I TFR A e | g R B e w

@ T E, o wferad (e feah 87
(@) 25% (b) 35%

{c) 45% (d) 55%




108. The provisions of the Constitution of

India pertaining to the institution of
Panchayat do not apply to which one

. The formulation of policy in respect to

Intellectual Property Rights (IPRs) is the
responsibility of

of kthe following States? {a) the Ministry of Law and Justice

(a) Meghalaya (b) Tripura (b)

the Department of Science and

{c) Assam Technology

(d) Goa
{c) the Department for Promotion of

109. Which one of the following rivers Industry and Internal Trade

does not drain into Black Sea? ({d) the Ministry of Human Resource

Devel t
(a) Volga (b) Dnieper evelopmen

113. Which one of the following is the latest
addition to the AYUSH group of
health care system?

(c) Don (d) Danube

110. The National Water Academy (NWA) is

located at (a) Unani

() Dehradun (b) Siddha

{b) Hyderabad (c) Sowa-Rigpa
{d) Reiki

(c) Bhopal
114. Which one of the following is the nodal

agency in India for the United Nations
Environment Programme?

(d) Khadakwasla

111. Which one of the following is the correct

sequence of formation of the fa) The Ministr¥ of Environment,
Commissions starting from the earliest? Forest and'Climate Change
y . ) () The Ministry of Science and
(a) Finance Commission, Planning Technology
Commission, Investment Commis-
sion, Election Commission (c) The Ministry of Earth Sciences
(b) Election Commission, Planning fd) The Minisiry of Homk Afairs

Commission, Finance Commission,

115. According to the Census 2011, in India,
Investment Commission

what is the percentage of people
(approximately) considered to be
migrants (internal), i.e., now settled in
a place different from their previous

(c) Planning Commission, Election
Commission, Finance Commission,
Investment Commission

residence?
{d) Investment Commission, Finance o .
Commission, Planning Commis- (@) 25% (b) 35%
sion, Election Commission {c) 45% {d) 55%
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116. WH WL 6 T SN Asigy o9 ifa # 400 118. fan e Rem (3@ IFew B), 2019 =

yfefes Farh §1 38 7ol & T W § Ao, Preafafes & @ w@-w 3w w?
(i) & =9 § s F F1 o e R,

wel 38 wRfA #700 Hft w F yw R (@) Fo THo To

T | 98 FN AeIgt & w9 A @ w5 ww @

% Tl 81 FN Ao A R wrE (e (b) VR

) Frefafaa § @ FR-d 37

(@ €1,100 (b) €700 (c) &4

c) €400 (d) ®300 ppp—

117. g1 # g1 F @y gafia hifsg ok
gt & e e e w1 @ W wh W

g 119. fyaw ¥@ew (BRICS @), 2020 I Aarh
forgas grq 1 wmofi?
-1 11
(SR ER"AT) (Ferdrea) @ W
A. o sfefrar 1. us R (ag) A fosht Faa
T Io9E R R s (b) =W
B. THIER 2. TH-Hl AT W WEEY -
(webrfrge) Sl ) Fshl T S (e)
o
& o (d) s
C. uHitsa 3. fovfea el 6t forshl wga-
B IRRHAG q et g/ R s
D. IR 4. TH-o4 el i foshl aiga-
(femiateh) A Teare! R e s 120. YRG G&R 7 B @ F &R IgaTE 9ed &
M W T R TR Tfea (Feenfia) e
e | 2\ e R Fr 8 3§ A % R 27
(a) A B C D
4 3 1 2 (@) ¥RA &) TE SR Sr@vEd
h) A B C D
4 1 3 2 (b) Waﬂ'('ﬂ'@ﬁ[
) A B C D
2 1 3 4 (c) TR wr
@ A B C D
2 3 1 4 (d) affa
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116. Suppose an agricultural labourer earns
¥ 400 per day in her village. She gets a
job to work as babysitter in a nearby
town @ ¥700 per day. She chose to
work as agricultural labourer. Which
one of the following is the opportunity
cost of the agricultural labourer?

(@) ¥1,100 (b) €700

(c) €400 (d) €300

117. Match List-1 with List-ll and select the

correct answer using the code given
below the Lists :

List-I List-IT
(Market (Characteristic)
structure)
A. Perfect 1. Only one producer
competition selling one commodity

B. Monopoly 2. Few producers selling
similar or almost similar

products

C. Monopolistic 3.
competition

Many producers selling
differentiated products

D. Oligopoly 4. Many producers selling

similar products

Code :

(a) A B C D
4 3 1 2

(b) A B C D
4 1 3 2

(c) A B C D
2 1 3 4

(d A B C D
2 3 1 4
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118. Which one of the following was the host

country for World Tourism Day, 2019?
(a) USA
(b) India

(c) Russia

(d) Canada

119. BRICS Summit, 2020 will be hosted by
(a) India
(b) China
(c) Russia
(d) Brazil

120. The Government of India has recently
constituted a civiian award in the

name of Sardar Vallabhbhai Patel in
the field of contribution to

(a) unity and integrity of India
(b) art and culture
social work

{c)

(d) entrepreneurship
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